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TEST XII – CURRENT AFFAIRS (OCTOBER 2020) AND APTITUDE 

AND MENTAL ABILITY ANSWERS 
 

1 2 3 4 5 6 7 8 9 10 
D C B C D C C C C D 

11 12 13 14 15 16 17 18 19 20 
C D C D C D A C C C 

21 22 23 24 25 26 27 28 29 30 
C B B C D D D B B A 

31 32 33 34 35 36 37 38 39 40 
D C A C D C D A B D 

41 42 43 44 45 46 47 48 49 50 
B B D C A B B C B A 

51 52 53 54 55 56 57 58 59 60 
D C B A D B C B B C 

61 62 63 64 65 66 67 68 69 70 
D C C D B A D A D C 

71 72 73 74 75 76 77 78 79 80 
C A B D B D B C D B 

81 82 83 84 85 86 87 88 89 90 
D C D C B D B B C D 

91 92 93 94 95 96 97 98 99 100 
D C B A D A C D A A 
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61. The central angle and radius of a sector of a circular disc are 180° and 21cm respectively. If 
the edges of the sector are joined together to make a hollow cone then the radius of a cone is  
a. 14 cm   b. 3.5 cm   c. 7 cm   d. 10.5 cm  

180° ikaf;NfhzKk; 21 nr.kP MuKk; nfhz;l tl;lNfhz tbtpyhd ,Uk;Gjfl;bd; 
Muq;fis ,izj;J xU $k;G cUthf;fg;gLfpwJ vdpy;> mf;$k;gpd; Muk;  
a. 14 nr.kP  b. 3.5 nr.kP c. 7 nr.kP  d. 10.5 nr.kP  
 
Solution:  
CSA of the cone = Area of the sector θ = 180°, l (Slant height) = 21 = radius of the circle   

  2

360
rl R


 =   

  21r
180

=
360

2

21 21  

  r = 10.5 cm  
$k;gpd; tiygug;G = tl;lNfhzg; gFjpapd; gug;G  
 θ = 180°, l  (rhAAuk;) = 21 = tl;lj;jpd; Muk;  

  2

360
rl R


 = 


 

  21r
180

=
360

2

21 21  

  r = 10.5 cm  
 
62. The perimeter of the ends of a frustum of a cone are 44 cm and 8.4  cm. If the depth is 14 

cm, then find its volume.  
a. 1308.6 cm3  b. 1208.6 cm3  c. 1408.6 cm3  d. 1608.6 cm3 
xU Neh;tl;lf; $k;gpd; ,ilf;fz;lj;jpd; ,UGwKk; mike;j tl;l tpspk;Gfspd; Rw;wsTfs; 
KiwNa 44 nr.kP kw;Wk; 8.4  nr.kP> mjd; cauk; 14 nr.kP vdpy; mt;tpilf; fz;lj;jpd; 
fd msT?  
a. 1308.6cm3  b. 1208.6cm3  c. 1408.6cm3  d. 1608.6cm3 

 
Solution:  
 R → Upper radius    r = smaller radius  

 2 44R =      2 8.4r =  

 R = 7 cm      r = 4.2 cm  
 h = 14 cm     

Volume of the Frustum = 2 21 ( )
3

h R r Rr + +  

(,ilf;fz;lj;jpd; fd msT) = 
221

3 7
 14

2
2 2((7) (4.2) 7 4.2+ +   

      = 
44

(49 17.64 29.4)
3

+ +  

     = 
44

(96.04)
3
  

     = 1408.6 cm3 
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63. Water is flowing at the rate of 15 km/hr through a cylindrical pipe of diameter 14 cm into a 
rectangular tank which is 50 m long and 44 m wide. In how many hours will the water level 

in the tank raise by 21 cm? Take 
22

7
 =  

a. 3 hrs   b. 5 hrs  c. 2 hrs  d. 4 hrs  
14 nr.kP tpl;lKs;s xU cUis tbt Foha; topahf> jz;zPiu kzpf;F 15 fp.kP 
Ntfj;jpy; 50 kP ePsKk; kw;Wk; 44 kP mfyKs;s xU nrt;tf tbt njhl;bf;Fs; 
nrYj;jpdhy; njhl;bapy; 21 nr.kP cauj;jpw;F jz;zPh; epuk;g vj;jid kzp NeukhFk;? (

22

7
 = ) 

a. 3 kzp Neuk;     b. 5 kzp Neuk;    
c. 2 kzp Neuk;    d. 4 kzp Neuk;  
 
Solution:  
Volume of water through the pipe = Cross section area × speed × time  
(Foha; topNa ghAk; jz;zPhpd; fd msT) = FWf;F ntl;Lgug;G × Ntfk; × Neuk;  
Volume of water through the pipe = Volume of the cuboid  
Volume of the cuboid = l × b × h  

diameter (D) = 14 cm     l = 50 m;  b = 44 m; h = 
21

100
m  

  R = 
14

2
 

     = 7 cm  

    = 7
100

m  

15 km = 15000 m → speed  

  2r speed Time l b h   =    

 
22

7

7


100

7
100

15 1000
10

50T = 44
2 21


3

100
 

     T = 2 hrs  
 
64. The surface areas of two spheres are in the ratio 9 : 25 : Then their volumes are in the ratio.  

a. 81 : 625  b. 729 : 15625  d. 27 : 75  d. 27 : 125 
,U Nfhsq;fspd; tisg;gug;G tpfpjk; 9 : 25 vdpy; mjd; fd msTfspd; tpfpjk;   
a. 81 : 625  b. 729 : 15625  d. 27 : 75  d. 27 : 125 

 
Solution:  

 

(Nfhsj;jpd; tisgug;G) curved surface area of the sphere   4 2r  
(Nfhsj;jpd; fd msT)  
 CSA of the sphere 1 :    CSA of the sphere 2 

   = 4  2

1r   : 4  2

2r  

   = 9    : 25 
   = (3)2   : (5)2     
   r1 = 3;   r2 : 5  
Then volume ratio;  

   4=
3
 3

1r   : 4=
3
 3

2r  3 3(3) :(5)  
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   = 27 : 125  
vspa Kiw:  

  2 2

1 2 1 2: :9 : 25 3; 5r r r r = =      

  3 3

1 2: :27 :125r r (/applicable for both side same formula)  

 
65. Arul has to make arrangements for the accommodation of 150 persons for his family 

function. for this purpose, he plans to build a tent which is in the shape of cylinder 
surmounted by a cone. Each person occupies 4 sq.m of the space on ground and 40 cu. 
meter of air  to breathe. what should be the height of the conical part of the tent if the height 
of the cylinderical  part in 8 m?  
a. 12 m  b. 6 m  c. 3 m  d. 8 m  
mUs; jdJ FLk;g tpohtpw;F 150 egh;fs; jq;Ftjw;F xU $lhuk; mikf;fpwhh;. $lhuj;jpd; 
mbg;gFjp cUis tbtpYk; Nkw;gFjp $k;G tbtpYk; cs;sJ. xUth; jq;Ftjw;F 4 r.kP 
mbg;gFjp gug;Gk; 40 f.kP fhw;Wk; Njitg;gLfpwJ. $lhuj;jpy; cUisapd; cauk; 8 kP 
vdpy; $k;gpd; cauk; vd;d? 
a. 12 kP  b. 6 kP  c. 3 kP  d. 8 kP  
 
Solution:  

         
 h1 = 8 m  
 Volume of the cylinder + volume of the cone = Total volume  
 Are of the one person = 4 sq.m  
 Total number of person = 150  

 Total base area = 150 × 4 = 600  ( )2r    

volume required for a person = 40m3        

Total volume air required = 150 × 40 = 6000 

   2 2

1 2
1

3
r h r h +  = 6000      

   ( )2

1 2
1 6000

3
r h h + =        

   600 ( )2
18 6000

3
h+ =

10

        

    2
1 2

3
h =         

    h2 = 6m  
 
66. A hemispherical bowl is filled to the brim with juice. The juice is poured into a cylindrical 

vessel whose radius is 50% more than its height. If the diameter is same for both the bowl 
and the cylinder, then, What is the percentage of juice that can be  transferred from the 
bowl in to the cylinderical vessel.  
a. 100%  b. 75%  c. 50%  d. 25%  
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Xh; miuf;Nfhs tbtf; fpz;zj;jpd; tpspk;G tiuapy; gor;rhW epuk;gpAs;sJ. cauj;ij 
tpl 50% mjpf MuKs;s cUis tbtg; ghj;jpuj;jpw;F gor;rhW khw;wg;gLfpwJ. 
miuf;Nfhsk; kw;Wk; cUis Mfpatw;wpd; tpl;lq;fs; rkk;. Mdhy;> fpz;zj;jpy; ,Ue;J 
vt;tsT rjtPjg; gor;rhW cUis tbt ghj;jpuj;jpw;F khw;wg;gLk;.  
a. 100%  b. 75%  c. 50%  d. 25%  
 
Solution:  
 cylinder (cUis)   hemisphere (miuf;Nfhsk;) 
 cauk; = 100%  
 Muk; = 150% 
          D = 6 

 r : h  Diameter (tpl;lk;) rkk;       r = 3 
 3 : 2  D = 6 
r = 3 volume of the cylinder = volume of the hemisphere  

 (cUis fd msT)     (miuf;Nfhs fd msT)  

   2r h      2=
3
 2r r  = 100%   

 fd msTfs; ,uz;Lk; rkk;. MfNt 100% khw;wg;gLk;. 
  
67. If the height is inversely proportional to the square of its radius, then the volume of the 

cylinder is (cu.units)  

a. 2r h   b. 2 rh   c. 22 r h   d.   
xU cUisapd; cauk; mjd; Muj;jpd; th;f;fj;jpd; jiyfPopf;F rkk;. vdpy; me;j 
cUisapd; fd msT (fd.myFfs;)  

a. 2r h   b. 2 rh   c. 22 r h   d.   
 
Solution:  

  h = 2
1

r
  volume of the cylinder = 2r h  

       2r 
2

1

r
  =   

   
68. The barrel of a fountain pen cylinderical in shape is 7 cm long and 5 mm in diameter. A full 

barrel of ink in the pen will be used for writing 330 words on an average. How many words 
can be written using a bottle of ink containing one fifth of a litre?  
a. 48000  b. 64000  c. 56000  d. 72000 
7 nr.kP ePsKs;s Xh; cUis tbt Ngdhtpd; tpl;lk; 5 kp.kP MFk;. ik KOik Mf 
cs;s Ngdhitf; nfhz;L ruhrhpahf 330 thh;j;ijfs; vOjyhk;. xU ypl;lhpy; Ie;jpy; xU 
gq;F ik xU ghl;bypy; cs;sJ vdpy; mjid gad;gLj;jp vj;jid thh;j;ijfs; 
vOjyhk;?  
a. 48000  b. 64000  c. 56000  d. 72000 
 
Solution:  
  
  10 mm = 1cm;   1 litre = 1000 (cu.cm) 
d = 0.5 cm h = 7 cm 

volume of the cylinder = 2r h  

     
22 0.5 0.5 7

2 27
    

r = 3  
h = 2 
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amount of ink in the bottle = 1 1000
5
  

      = 200 cu.cm 
 volume     words  

22 0.5 0.5 7
2 27

       330    

 200     x 
 x = 120 × 4 × 100 = 48000  

   
69. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter 

and same height is  
a. 1 : 2 : 3   b. 2 : 1 : 3  c. 1 : 3 : 2   d. 3 : 1 : 2  
xNu cauk; xNu MuKs;s cUis $k;G> Nfhsk; Mfpatw;wpd; fd msTfspd; tpfpjk;  
a. 1 : 2 : 3   b. 2 : 1 : 3  c. 1 : 3 : 2   d. 3 : 1 : 2  

 
Solution:  
 
radius & height are same.  
volume of the cylinder : volume of the cone  : volume of the sphere  

   2r h  : 1
3
 2r h   : 4

3
 3r r  

  3 h   :  h    :  4r   (h = 2r) 
 3h  :  h  :  4r  

 3 h  : h  : 2 h  

 3 : 1 : 2  
  
70. Three coins each 2 cm in diameter are placed touching one another find the area enclosed 

by them.  
a. 0.25 cm2  b. 0.98 cm2   c. 0.16 cm2  d. 0.73 cm2 
2 cm tpl;lKs;s %d;W ehzaq;fs; xd;iw xd;W njhLkhW itf;fg;gl;lhy; mtw;Ws; 
milgLk; gFjpapd; gug;G?  
a. 0.25 nr.kP2  b. 0.98 nr.kP2  c. 0.16 nr.kP2 d. 0.73 nr.kP2  
 
Solution:  
      Sector (tl;lNfhzgFjp)  

           
radius 1 cm; side of a triangle = 2cm  
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enclosed area = area of the equilateral triangle – 3 × Area of the sector  
milgLk; gFjpapd; gug;G = rkgf;f Kf;Nfhzj;jpd; gug;G – 3 tl;lNfhz gFjpapd gugG;  

    = 2 23
3

4 360
a R




 
−   

 
 

    3
4

= 2( )
2 60

3


− 
360

3
6

22


11

1 1
7

   

    113
7

= −  = 1.732 – 1.571 = 0.16 (approximately) 

 
71. Two cubes each of volume 216 cm3 are joined to form a cuboid. then, total surface area of 

the cuboid?  
a. 432 sq.cm  b. 288 cq.cm  c. 360 sq.cm  d. 684 sq.cm 
fd msT 216 f.nr.kP msTs;s ,U fdrJuq;fs; xd;Nwhnlhd;W ,izf;fg;gLk; NghJ 
fpilf;fg;ngWk; fdr; nrt;tfj;jpd; nkhj;j gug;G?  
a. 432 r.nr.kP  b. 288 r.nrkP  c. 360 r.nr.kP  d. 684 r.nr.kP  
 
Solution:  
  
Volume of the cube (fd rJuj;jpd; fd msT) = a3 

   a3 = 216cm3                     

          
a = 6 cm  
Cuboid (fdr;nrt;tfk;)  l = 6 + 6 = 12 cm  
     b = 6 cm h = 6 cm  
T.S.A. of the cuboid (fdr;nrt;tfj;jpd; nkhj;jgug;G) = 2 (lb + bh + lh)  
         = 2 (12 × 6 + 6 × 6 +12 × 6)  
         = 2 (72 + 36 + 72) 
         = 360 sq.cm (r.nr.kP) 

 
72. How many hollow blocks of size 30 cm × 15 cm × 20 cm are needed to construct a wall  60m  

in length 0.3 m in breadth and 2 m in height.  
a. 4000  b. 16000  c. 40000  d. 1400 
ePsk; 60 kP> mfyk; 0.3 kP cauk; 2 kP cila Rth; vOg;g 30 nr.kP  × 15 nr.kP × 20 nr.kP 
msT nfhz;l nrq;fw;fs; vj;jid Njit?  
a. 4000  b. 16000  c. 40000  d. 1400 
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Solution:  
  

  n  = 
volumeof thewall

volumeof thebrick
 

  volume of the cuboid = l × b × h  

      = 
60 0.3 2

30 15 20

100 100 100

 

 

 

      =  
60

2

0.3 2 100 
5

100
10

100

30



15
3

20
10

 

  = 2 × 2 × 10 × 100 = 4000 

vz;zpf;if (n) = 
Rthpd; fd msT 

nrq; fy;ypd; fd msT
 

  fdr; nrt;tfj;jpd; fd msT = l × b × h  

      4000
30 15 20

    
=

 

60  0.3  2 100 100 100
 

 
73. The length breadth and height of a hall are 25m, 15m, 5m respectively. find the cost of 

renovating its floor and four walls at the rate of Rs. 80 per m2. 
a. 32,000  b. 62,000  c. 92,000  d. 1,46,000 
ePsk;> mfyk; kw;Wk; cauk; KiwNa 25kP> 15kP> 5 kP cila xU miwia GJg;gpf;f jsk; 
kw;Wk; 4 Rth;fSf;F xU rJu kPl;lUf;F & 80 MFk; vdpy; nkhj;j nryT vt;tsT?  
a. 32,000  b. 62,000  c. 92,000  d. 1,46,000 
 
Solution:  
  
  Area of 4 wall + Area of floor  = 2h (l + b) + l × b 
        = 2 × 5 (25 + 15) + 25 × 15 = 775 
   total cost     = 775 × 80 = 62,000 

 
74. The perimeter of an equilateral triangle is 30 cm. The area is. 

a. 210 3cm   b. 212 3cm   c. 215 3cm    d. 225 3cm  

xU rkgf;f Kf;Nfhzj;jpd; Rw;wsT 30 cm vdpy; mjd; gug;gsT?  

a. 210 3cm   b. 212 3cm   c. 215 3cm    d. 225 3cm  

 
Solution:  
  Perimeter of an equilateral Triangle = 30 cm  
  (rkgf;f Kf;Nfhzj;jpd; Rw;wsT)  
 Perimeter of an equilateral Triangle = 3a  
 (rkgf;f Kf;Nfhz Rw;wsT) 3a = 30 cm  
     a = 10 cm  

Area of an equilateral Triangle (rk gf;f Kf;Nfhzj;jpd; gug;G) = 23

4
a  

     ( )23
10

4
=  = 225 3cm=  
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75. If the ratio of the sides of two cubes are 2 : 3, then ratio of their surface areas will be  
a. 4  : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  
,U fd rJu gf;fq;fspd; tpfpjk; 2 : 3 vdpy; mtw;wpd; gf;f gug;Gfspd; tpfpjk;.  
a. 4  : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  
 
Solution:  
  fdrJuk;1   fdrJuk;2 
  Cube1  :  cube 2  
     (a1)      (a2)  
Sides ratio     2  :    3 
(gf;fq;fspd; tpfpjk;)  

surface aeas   = 4 2

1a   :  4 2

2a  

        ( )
2

2   ( )
2

3  

    4 : 9  
shortcut:  

  1 2:

2 : 3

a a
    ( ) ( )

22

1 2:

4 : 9

a a
 

   
76. An advertisement board is in the form of an isosceles triangle with perimeter 36 m and each 

of the equal sides are 13m. find the cost of the painting it at Rs. 17.50 (per sq.m)  
a. Rs. 1155  b. Rs. 1260  c. Rs. 945  d. Rs. 1050  
xU tpsk;gu gyifahdJ ,Urkgf;f Kf;Nfhz tbtpy; cs;sJ. mjd; Rw;wsT 36 kP. 
,U rkgf;fj;jpd; msT 13 kP mjw;F tz;zk; G+r xU rJu mbf;F & 17.50 MFk;. vdpy; 
nkhj;j nryT vt;tsT?  
a. Rs. 1155  b. Rs. 1260  c. Rs. 945  d. Rs. 1050  
 
Solution:  
 a = 13 m,   perimeter = 36 m   a      a 
(,U rkgf;f Kf;Nfhzj;jpd; gug;G)   13 m      13 m     
Area of isosceles Triangle formula =  
 

 2 21 4
4

b a b= −             b    10m  

 Perimeter of a Isosceles Triangle  = 2a + b  
  2 a + b = 36 m 
  2 (13) + b = 36 
   b = 10 m  

Area = ( ) ( )
2 21 (10) 4 13 10

4
= −  

 = 1 (10) 24
4

= 
6

 

Area = 60 sq.m 
Total cost = 60 × 17.50  = Rs. 1050  

 
77. The lengths of sides of a triangular field are 28m, 15m and 41m, then, find the cost of 

levelling the field at the rate of Rs. 20 per m2.  
a. Rs. 2640   b. Rs 2520   c. Rs. 2440  d. Rs. 2680  
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28 kP> 15 kP> 41 kP vd;w gf;f msTfis cila xU Kf;Nfhz tbt taiy rkd;gLj;j 
xU (rJu kPl;lUf;F) & 20 MFk; vdpy; nkhj;j nryT vd;d?  
a. Rs. 2640  b. Rs. 2520  c. Rs. 2440  d. Rs. 2680 

 
Solution  

  a = 28 m  b = 15m   c. = 41m  
Area of the scalene Triangle  

(mrk gf;f Kf;Nfhzj;jpd; gug;G)  = ( )( )( )S s a s b s c− − −  

  S = 
2

a b c+ +
; S = 

28 15 41

2

+ +
 =42 m 

 (s – a) = 42 – 28 = 14 m 
 (s – b) = 42 – 15 = 27 m  
 (s – c) = 42 – 41 = 1m  

    42 14 27 1    

    6 7 2 7 3 9 1       

    = 3 × 6 × 7 =126 m2  
 total cost = 126 × 20 = 2520  
 
78. A park is in the shape of a semi circle with radius 21 m. then, the total cost of fencing at the 

cost of Rs. 5 per meter.  
a. Rs. 435  b. Rs. 330  c. Rs. 540  d. Rs. 720  
xU miutl;lk; tbtpyhd G+q;fhtpd; Muk; 21 kP mjidr; Rw;wp Ntyp mikf;f xU 
kPl;lUf;F & 5 MFk;. vdpy; nkhj;j nryT?  
a. & 435  b. & 330  c. & 540  d. & 720  
 
Solution:  

 Perimeter of the semicircle (miutl;lj;jpd; Rw;wsT) = ( )2r  +  

          = 
22

21 2
7

 
+ 

 
 

     Total cost = 
22

21 2 5
7

 
+  

 
 

       
36

21 5
7

 
 

 
 = 540 

 
79. A cow is tied up for grazing inside a rectangular field of dimension 40 m 36 m in one corner 

of the field by a rope of length 14m. then, How much are of the field left ungrazed by the 
cow.  
a. 824m2  b. 1446m2  c. 1366cm2   d. 1286m2 
xU gRthdJ 40 kP 36 kP vd;w ePsKk; mfyKk; cila xU nrt;tf tbt taypd; xU 
%iyapy; fl;lg;gl;Ls;sJ. mjd; fapw;wpd; ePsk; 14 kP vdpy;> me;j gR Nkahj gug;G 
vt;tsT?  
a. 824m2  b. 1446m2  c. 1366cm2   d. 1286m2 
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Solution:  
ungrazed area =  (Nkag;glhj gFjpapd; gug;G)        

  
  
  = Area of the rectangle – Area of the quadrant  
  (nrt;tfj;jpd; gug;G)  - fhy;tl;l gug;G  

   = 
2

4

r
l b


 −  

   = 40 × 36 - 
1 22

4 7
 14

2

14  

   = 1286 m2 
     

80. A palm leaf fan (sector) of radius 10.5 cm and whose perimeter is 43 cm. then the central 
angle of a palm tree leaf fan.  
a. 54°   b. 120°  c. 126°  d. 216°  
xU gid Xiy tprpwpapd; Muk; 10.5 nr.kP mjd; Rw;wsT 43 nr.kP vdpy; me;j gid Xiy 
tprpwpapd; ikaf;Nfhzk; vt;tsT?  
a. 54°   b. 120 °  c. 126°  d. 216°  
 
Solution:  
 Perimeter of the sector (tl;l Nfhz gFjpapd; Rw;wsT) =  l + 2r  
     43 cm = l + 2 × 10.5  
     22 cm = l  

  length of the arc (tpy;ypd; ePsk;) l = 2
360

r





 

      22
22

2
360


=  

 7
10.5

1.5

  

      
360

3



=  = θ = 120° 

      
81. If the biggest circle cut from a square side 'a' units. then, the area of the biggest circle? 

(approximately)  

a. 23
( . )

14
a sq units   b. 24

( . )
7

a sq units  c. 222 ( . )
7

a sq units  d. 211
( . )

14
a sq units  

a myFfs; gf;fk; cila xU rJuj;jpy; ,Ue;J ntl;b vLf;fg;gLk; kpfg; nghpa tl;lj;jpd; 
gug;G vd;d?  

a. 23
( . )

14
a sq units   b. 24

( . )
7

a sq units  c. 222 ( . )
7

a sq units  d. 211
( . )

14
a sq units  
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Solution:  
 

 area of the circle = 2r  
radius = a/2         

        a 

       

 ( )
222

27
a=       

2
ar =  

 = 
22

=

11
2

7 4

a



2

2

11

14

a
=  

 
82. Find the area of the given figure (all units are c.m)  

    
           ________ 120 ___________ 

a. 3200 cm2   b. 2400 cm2   c. 3500 cm2   d. 3800 cm2  
,g;glj;jpd; gug;gsit fz;lwpf.  
a. 3200 nr.kP2  b. 2400 nr.kP  c. 3500 nr.kP  d. 3800 nr.kP  

 
Solution:  

   
Trapezium (rhptfk;) Rectangle (nrt;tfk;) Triangle (Kf;Nfhzk;) 

Parallel sides = a, b  
(,izgf;fq;fs;) a = 50 cm 
b = 30 cm  
h = 20 cm  

l = 120  - (20 + 20)  
l = 80  
b = 30  

b = 30 cm  
h = 20 cm  

The area of the figure    = Area of the Trapezium  
 (glj;jpd; gug;G)     (rhptfj;jpd; gug;G)  
  + Area of the Rectangle (nrt;tfj;jpd; gug;G) 
  + Area of the Triangle (Kf;Nfhzj;jpd; gug;G) 

 1 1( )
2 2

a b h l b bh= + +  +  

 = 1 1(50 30)20 80 30 30 20
2 2

= + +  +    

 = 800 + 2400 + 300 = 3500 cm2 
     
83. The radius of the sphere is increased by 25% find the percentage increase in its surface area? 

a. 50%  b. 52.25%  c. 62.25%   d. 56.25% 
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xU Nfhsj;jpd; Muk; 25% mjpfhpf;fg;gl;lhy; mjd; tisg;gug;G mjpfhpf;Fk; rjtPjk; 
vt;tsT?   
a. 50%  b. 52.25%  c. 62.25%   d. 56.25% 
 
Solution:  
 Initially take, 100%  

    100
125



5

100

125

100


4

156.25%=  

    = 156.25% - 100% = 56.25% (Increase) 
 
84. When a man runs around circular plot of land 10 times, the distance covered by him is 352 

m, then the area of the plot?  
a. 97.24m2  b. 95.65m2  c. 98.56m2  d. 99.22m2  
xU kdpjd; xU tl;ltbt epyj;ij 10 Kiw Rw;wp tUtjhy; mth; 352 kPl;lh; J}uj;ij 
fle;jhh; vdpy; mt;tl;l epyj;jpd; gug;G?  
a. 97.24m2  b. 95.65m2  c. 98.56m2  d. 99.22m2  
 
Solution:  
  Distance covered 1 time = perimeter of a circle  

   
352

2
10

r=  

   
352

16
8

2
10

=
22



1

7
r  

   r = 5.6 m 

 area of the plot = 2r  

    = 
22

5.6 5.6
7
   

    = 98.56m2 
     
85. The length and breadth of a room are 8 m and 5 m respectively, A red colour border of 

uniform width of 0.5 m has been painted all around on its inside. then the area of the 
border.  
a. 16 m2   b. 12m2   c. 8 m2   d. 24 m2  
xU miwapd; ePs mfyq;fs; KiwNa 8 kP kw;Wk; 5 kP xU rptg;Gepw vy;iy ghijahdJ 
mjid Rw;wpYk; cl;Gwkhf mike;Js;sJ. mjd; mfyk; 0.5 kP mjDs; th;zk; 
G+rg;gLfpwJ. mg;ghijapd; gug;G?  
a. 16 kP2   b. 12 kP2  c. 8 kP2  d. 24 kP2  
 
Solution:  
  Area of the path = 2x (l + b - 2x)    8 m  

  = 2 × 0.5 (8 + 5 – 2 × 0.5)            
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   = 12m2     width of the part x A 
Note:   
Inter part = 2x (l + b – 2x)  
outer path = 2x (l + b + 2x)  

 
86. The collar of a shirt is in the form of isosceles trapezium whose parallel sides are 17 cm and 

14 cm and the distance between them is 4 cm. Find the area of canvas that will be used to 
stitch the collar?  
a. 124 sq.cm  b. 147 sq.cm  c. 152 sq.cm  d. ,tw;Ws; vJTkpy;iy 
xU rl;ilapd; fhyh; gFjp ,U rkgf;fr; rhptfkhf cs;sJ. mjd; ,izg;gf;fq;fs; 
KiwNa 17 nr.kP kw;Wk; 14 nr.kP> cauk; 4 nr.kP vdpy; fhyh; ijg;gjw;F gad;gLj;jg;gLk; 
Jzpapd; gug;gsT?  
a. 124 sq.cm  b. 147 sq.cm  c. 152 sq.cm  d. ,tw;Ws; vJTkpy;iy   
 
Solution:  
 
a = 17;   b. = 14;   h = 4  

 Area of the trapezium  = 1
2

 (a+b)h  

     = 1 (17 14) 4
2

+   

     = 62 sq. cm 
 
87. A sweet is in the shape of rhombus whose diagonals are given as 4 cm and 5 cm. The 

surface of sweet should be covered by an aluminium foil, then, the cost of aluminum foil 
used for 400 such sweets at the rate of Rs. 7 per 100 sq.cm. 
a. Rs. 560   b. Rs. 280  c. Rs. 490   d. Rs. 140  
xU ,dpg;G tif rha;rJu tbtpy; cs;sJ. mjd; %iytpl;lq;fs; KiwNa 4 nr.kP kw;Wk; 
5 nr.kP ,dpg;gpd; Nkw;gug;G KOtJk; nky;ypa mYkpdpaj; jfl;lhy; %lg;gl Ntz;Lk;. 100 
r.nr.kPf;F & 7 tPjk; nkhj;jk; 400 ,dpg;Gfis mYkpdpa jfl;lhy; %l vt;tsT 
nrythFk;?  
a. Rs. 560   b. Rs. 280  c. Rs. 490   d. Rs. 140  

 
Solution:  

 

area of the rhombus = 1 2
1

2
d d 

 

   = 
1 4 5

2
   

   = 10 sq.cm  
Area of aluminum foil = Area of 400 sweets  

   = 400 × 10 =4000 
 Cost of aluminum foil 100 sq.cm = Rs. 7  

      
7 4000

100
  

      Total cost of Aluminum = Rs. 280  
 
88. In a parallelogram the base is three times its height. If the height is 8 cm then the area is  

a. 64 sq. cm  b. 192 sq.cm  c. 32 sq.cm  d. 72 sq.cm  
xU ,izfuj;jpd; mbgf;fk; MdJ mjd; cauj;ijg; Nghy %d;W klq;F. mjd; cauk; 8 
nr.kP vdpy; me;j ,izfuj;jpd; gug;G vt;tsT?  
a. 64 sq. cm  b. 192 sq.cm  c. 32 sq.cm  d. 72 sq.cm  
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Solution:  
  
  base (mbgf;fk;) b = 3h ;   Height (cauk;) h = 8 
     b = 24;  
  ,izfu gug;G = b × h  
     = 24  × 8  
     = 192 cm2  

 
89. How many different rectangles can be made with 48 cm long string?  

a. 8   b. 48   c. 12   d. 24  
48 nr.kP ePsKs;s xU fk;gpiaf; nfhz;L vj;jid ntt;NtW nrt;tfq;fis cUthf;f 
KbAk;.  
a. 8   b. 48   c. 12   d. 24  

 
Solution:  
 

 Length of the string = 48 cm  
  (fk;gpapd; ePsk;)  
 Length of the string = perimeter of the Rectangle  
   2 (l +b) = 48  
   l + b = 24 cm  
 

Rectangle (Two sides) Total  12 Rectangles possibles.  
 (1, 23) (2, 22) (3, 21) ..... (12, 12)  
  (Length is always greater then the breadth)  
 
90. For the lunch, the food is kept in 3 Cylinderical containers of diameter 1.4 m and height 56 

cm. How many students can be served if the food is served twice with a hemispherical bowl 
of  radius 14 cm? 
a. 30   b. 75    c. 150   d. 225   
%d;W cUis tbt ghj;jpuj;jpy; kjpa czT jahuhf itf;fg;gl;Ls;sJ. ghj;jpuj;jpd; 
tpl;lk; 1.4 kP cauk; 56 nr.kP mt;Tzit 14 nr.kP MuKs;s miuf;Nfhs tbtg; 
ghj;jpuj;jhy; ,UKiw ghpkhwpdhy; vj;jid khzth;fSf;F czT fpilf;Fk;?  
a. 30   b. 75    c. 150   d. 225   

 
Solution:  

  Cylinder     Hemisphere 

  r =  140
2

= 70 cm    r = 14 cm  

  h = 56 cm  

  n = 
3

2

volumeof thecylinder

volumeof thehemisphere




 

  = 
3  2

22
3

r h

 3r
  = 

3 70
5

70
5

56
4

2 2 14
3


1

14 14

 

     = 5 × 5 × 9 = 225 
  n = 225 
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91. Find the standard deviation of the first 7 consecutive odd integers. 
a. 2   b. 3   c. 5   d. 4  
Kjy; 7 xw;iw vz;fspd; jpl;l tpyf;fk;  
a. 2   b. 3   c. 5   d. 4  

 
Solution:  

 
(Kjy; n xw;iw vz;fspd; jpl;l tpyf;fk;)  

S.D. of n consecutive odd Integers = 
2 1

2
12

n −
 

   n = 7  

  
27 1

2 2 4
12

−
=  = 2 × 2 = 4  

 
92. In a two children family, find the probability that there is atleast one girl in a family.  

a. 
1

2
   b. 

1

4
   c. 

3

4
   d. 

2

3
 

,uz;L Foe;ijfs; cs;s xU FLk;gj;jpy; Fiwe;jJ xU ngz;Foe;ij ,Ug;gjw;fhd 
epfo;jfT?  

a. 
1

2
   b. 

1

4
   c. 

3

4
   d. 

2

3
 

 
Solution:  
 
A family has two children  
let girl is denoted by 'g' and boy be denoted by 'b'  
Then the sample space 
  s = {(g, g), (g,b), (b,g), (b, b)} 
  n (S) = 4 
 Let A be the event of having atleast one girl baby.  
    A = {(g,g), (g, b), (b,g)} 
    n (A) = 3 

    P (A) = 
( ) 3

( ) 4

n A

n S
=  

  Probability of getting at least one girls is 
3

4
 

  
93. The mean mark of 100 students was found to be 40. Later on, it was found that a score of 53. 

was misread as 83. find the correct mean corresponding to the correct score  
a. 40.3  b. 39.7  c. 42.3  d. 37.7  
100 khzth;fspd; kjpg;ngz;fspd; ruhrhp 40 vd;W fzf;fplg;gl;lJ. gpd;G> 53 vd;w 
kjpg;ngz; 83 vd;W jtWjyhf vLf;fg;gl;lJ vd njhpate;jJ. rhpahd kjpg;ngz;fisf; 
nfhz;L rhpahd ruhrhpiaf; fhz;f.  
a. 40.3  b. 39.7  c. 42.3  d. 37.7  
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Solution:  
 
difference (tpj;jpahrk;)  = (wrong mark – correct mark) = 83 – 53 = 30  

Decreased average) (Fiwe;j ruhrhp) - 
30

.

difference

no of Quantities
=

10 0
0.3=  

     = 40 – 0.3 = 39.7   (decreased)  
  
94. A researcher studying the behaviour of mice has recorded the time (in seconds) taken by 

each mouse to locate its food by considering 13 different mice as 31, 33, 63, 33, 28, 29, 33, 27, 
27, 34, 35, 28, 32. Find the median time that mice spent in searching its food?  
a. 32   b. 35   c. 33   d. 34 
xU Muha;r;rpahsh; 13 vypfspd; czT NjLk; gof;fj;ij Muha;r;rp nra;J> mit czT 
Njl vLj;Jf; nfhs;Sk; Neuj;ij 31, 33, 63, 33, 28, 29, 33, 27, 27, 34, 35, 28, 32 vd 
gl;baypl;Ls;shh;. vypfs; czT Njl vLJ;Jf;nfhs;Sk; Neuj;jpd; ,ilepiy msT?  
a. 32   b. 35   c. 33   d. 34 

 
Solution:  

  arranged acsending order:  
  27, 27, 28, 28, 29, 31,   32,  33, 33, 33, 34, 35, 63  
 

Median (,il epiy)  = 32  (rkghjpahf gphpf;Fk; NghJ fpilf;Fk; ika  
          kjpg;G)  
 
95. Find the mode for the following frequents table  
 

Wages  250 300 350 400 450 500 

Number of workers  10 15 16 12 11 13 

a. 450   b. 300   c. 400   d. 350  
gpd;tUk; epfo;ntz; ml;ltizapd; KfL fhz;.  

 
rk;gsk;  250 300 350 400 450 500 
Ntiyahl;fspd; 
vz;zpf;if  

10 15 16 12 11 13 

a. 450   b. 300   c. 400   d. 350  
 
96. Histogram is a graph of a _______ frequency distribution. 

a. continuous    b. discontinious    
c. discrete     d. none of these  
epfo;Tr; nrt;tfk; vd;gJ xU _________ epfo;fT vz; guty;  
a. njhlh;r;rpahd    b. njhlh;r;rpaw;w  
c. jdpj;j     d. vJTkpy;iy  

 
97. The range of the first 20 natural numbers is  

a. 18   b. 20   c. 19   d. 21 
Kjy; 20 ,ay; vz;fspd; tPr;R  
a. 18   b. 20   c. 19   d. 21 
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Solution:  
  
 {1, 2, 3, 4, 5 ......... 20} 
 range (tPr;R) = L - S    L = Largest  
        Value = 20  
  = 20 – 1      S = Smallest  
  = 19       value = 1 

  
98. Arithmetic mean of 10 observations was found to be 22. If one more observation 44 was to 

be added the data then find the new mean of the data.  
a. 23   b. 26   c. 25   d. None of these  
10 fzf;fPLfspd; $l;L ruhrhp 22. 44 vd;w kjpg;G $Ljyhf Nrh;f;fg;gl;lhy; fpilf;Fk; Gjpa 
ruhrhp?  
a. 23   b. 26   c. 25   d. ,tw;Ws; vJTkpy;iy  
 
Solution:  

  
+Kjy; 10 vz;fspd; $Ljy; Gjpa vz; 

nkhj;j vz;zpf;if 
 

  
10 22 44 264

24
11 11

 +
= = =  

 
99. The median first 6 odd natural number is  

a. 6   b. 7   c. 8   d. 14  
Kjy; 6 xw;iw ,ay; vz;fspd; ,ilepiy  
a. 6   b. 7   c. 8   d. 14  
 
Solution:  
  
  1, 3,  5, 7,  9, 11 
 2 terms   2 terms  

median = 
5 7

6
2

+
=  

short cut : 
 Eg : Ans : 6  (First 6 odd) 
        Ans : 7  (First 7 odd)  

 
100. Find the mean and variance of first 10 natural numbers  

a. 
11 33

,
2 4

  b. 
11 121

,
2 4

  c. 
11 11

,
2 2

  d. 
11 89

,
2 12

 

Kjy; 10 ,ay; vz;fspd; ruhrhp kw;Wk; tpyf;fth;f;f ruhrhp vd;d?  

a. 
11 33

,
2 4

  b. 
11 121

,
2 4

  c. 
11 11

,
2 2

  d. 
11 89

,
2 12
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Solution:  
 
Kjy; 10 ,ay; vz;fs;  
First 10 natural number  

  mean ($l;Lr; ruhrhp) = 
1

2

n+
 

  Variance (tpyf;fth;f;f ruhrhp) = 
2 1

12

n −
 

 mean = 
10 1

2

+
   Variance = 

210 1

12

−
 

  = 11
2

    
99

12

33

4
=

 

Ans: 11
2

  ; 
33

4
 

 


